iEK 3. leMOHTaX BpeMEeHHOMW 3aLUTHOW KPbILLKKU YcTaHoBKa U aKcnyaTauus Jilo4dka

— rocne 3acTbiBaHnsi GETOHA CHSATb BPEMEHHYHO 3aLUMTHYIO KPBILLIKY; 1. Mocne 3aBepLUEHNst ANEKTPOMOHTaXHbIX paboT, ycTaHOBUTE MHOHOK
— YCTAHOBUTb (PUHNLLIHOE HAMOIBHOE MOKPLITUE C BbIPE3aHHBIM OTBEPCTUEM B HanosbHyo KOPOBKy 1 3aKpenuTb C MOMOLLbIO ABYX KPenexHbIX BUHTOB M4x25.
10 KOHTYPY HaMoMbHOW KOpOBky (TONLmHA NOKpbITUS 515 MM). MOBEPXHOCTb KPbILLKM AOHKHA BbITh HA YPOBHE MOBEPXHOCTU HAMOSBLHOTO
NOKPLITUA.

MHCTPYKUUA MO MOHTAXY
N SKCIJTIYATALU NN

PRIMER JTFO4OK C OTKUOHOWM KPbILLKOWM

PM.LN21.001.1.MM

Cxema uspgenus

MoHTaXx Kopo6ku B panbLunon**
1. Boipes oTBepcTUA
CpaenaTb NpsiMOYronbHbIV BbIPe3 NoA HamnonbHY KOPOGKY Ha BbIGpaHHO

MogyrisHoe SYM OtknaHas Kpbiwika npumep yCTaHOBKU B BGETOHHbIV Non npumMep yctaHOBKM B d)a]'lbLLII'IOJ'I
(B KOMNNEKT NocTaBKKN

He BXOA4WUT, HOCUT

2. YTOBbI OTKPbITH KPbILLKY, HEOBXOAMMO HaxaTb, CABUHYTb U YAEpXMBaTh

xapaxrepy o MOBEPXHOCTY. . 3aLLenKy 10 Tex nop, Moka Kpbillka He GyaeT MoHOCTLIO OTKPLITa. B M3nenumn
2. MoHTax HamnonbHol Kopo6Kku B VICMIONb3YETCS MEXaHN3M MNaBHOMO NOABbEMA KPbILLKM.
— MPUCOSAMHNTL MOHTaKHbIE KPOHILTENHbI K HAaNOMBHOM kopoBke, UTOGbI 3aKPbITh KPbILLKY, HEOBXOANMO HaXaTb 1 CABMHYTE 3aLLENKY OfIHO
nenonbays BUKTEl Mdx4 ¢ wavbamm (1); PYKOI1 U, HE 3aABUras ee 0BPATHO, OMYCTUTL KPBILLKY PYroii PYKOA.

— MOMECTUTb HamnosbHY0 KOPOBKy B paHee NoAroToBIieHHOe OTBepCThe
1 3ahMKCUPOBaTb MOHTaXHbIE KPOHLLTEWHbI B TPEGYEMOM NOMOXEHUN C HIDKHEN
YacTu paboyeit NOBEPXHOCTU, UCMOMNb3yst camopesbl M4x 12 (He BXoaAT B KOMMMEKT
nocrasku) (2);

— yAanuTb 3arnyLKM U3 COOTBETCTBYIOLLMX OTBEPCTUI ANs BBOAA kabenst
1 3aBEeCTU NPOBOAHUKW BHYTPb HAMonbHON KOPOGKH.

dukeupytoLas atlen
C MexaH13MoM
Ha)XXaTus-BblABWKEHUA

Camopes ¢ notaiiHo
ronoskoi M4x12

MoHTa>x Kopo6ku B 6€TOHHbIM non
1. YcTaHOBKa HanosibHOW KOPO6KU
— yAanuTb 3arnyLwKkn n3 OTBepCTI/IIZ Ansa BBoaa Ka6en9|;

— NOMECTUTb HamMomMbHYI0 KOPOBKY B BbIGPAHHOE MECTO 1 BBECTY MopkniodeHne U ycTaHoBKa YU
MPOBOAHMKM BHY TP KOPOGKY; 1. OTCOEAMHUTL MOHTAXHYIO MAAHKY OT OTKAHOI KPBILLKM NyTem
— YCTaHOBUTbL BPEMEHHYIO 3ALLMTHYIO KPbILLKY NS NPEAOTBPALLEHMS BLIKDYUMBAHA BUHTOB N0 GOKAM W M3BNEYb CYNNOpT.
3anmBanus kopoGk BO Bpemsi GeTOHMpOBaHNA. 2. YctaHoBuTb YW B CynnopT v NOAKMIOUUTL NPOBO/IA B COOTBETCTBYIOLLNE
3axumMbl YW,
KpecTosas oTseprka 3. 3a[1BMHYTb CYNMOPT, HANPaBUB €ro CTOPOHY C BbIEMKaMI BHYTPb
Tpy6a makc. D25 Mm K OTKMZHOWN KPbILLKE.

BUHT (2 x M4x8) 4. YCTaHOBUTb 1 3aKPEnUTb MOHTAXHYHO NMaHKy BUHTaMMU.
5. BoiBeAeHHble B KOPOOKY NPOBOAHMKN NOACOEANHUTDL K BI0KY BUHTOBbIX

3aXVMMOB Ha 3aJHel 4YacTu NaHenu fnoYka.

Tpy6a makc. D20 mm SaumTHas Kpbiwka

KopoGka HanonbHas

2. BeToHnpoBaHue
Banelite 6eToHOM 0 TpebyeMoro ypoBHS HaNonbLHOM KOpobKu.

4
£

BUHTOBbIE 3aXKUMbI MpousBeaeHo: YxaussaH CuHo AnekTpo-TexHukan Ko., JITO

Cynnopt A5 6ungunr, Cynionn Mpgactpuan 3oH, Miowu, KOaumH,
MoHTaxHast YkaussaH, Kutan, 325604
nnaxka BUHTHI Made by: ZHEJIANG SINO ELECTRO-TECHNICAL CO., LTD

A5 Building, Sulv Industrial Zone, Liushi, Yueqing, Zhejiang,
China, 325604

** [lonyckaeTCst MOHTaX Nlo4Ka B CTON C A0MONHUTENbHOM kopobkoin PM-KN13-03-55-P-K02
*BapWaHTbl 3aMeHbl UCMOMb3yeMOol KOpoBKK: (He BXOAAT B KOMMIEKT NOCTaBKM), MPOLIECC MOHTaXa aHanornyeH ykasaHHomy B n.2
PM-KN13-03-55-M-K46, PM-KN13-03-55-M-K46-E, PM-KN13-03-80-M-K46 HacTOSALLEN NHCTPYKLMM M3paHve 1



I

T—{ L 4

INSTALLATION AND OPERATION
INSTRUCTION

PRIMER HINGED COVER BOX
PM.LN21.001.1.MM

Product diagram

Modules

(not included
in delivery set,
for illustrative
purposes only)

Press and slide
locking tab

Installation of the box in a concrete floor

1. Base box mounting

—remove the plugs from the cable entries;

— place the base box in the selected location and feed the wiring conduit
through the knockouts;

— mount the temporary cover to prevent debris from entering the box prior
to pouring concrete.

Phillips head screwdriver

! E Screw (2 x M4x8)

Cable conduit D25 mm

Base box

2. Concreting
Pour concrete as needed until desired base box level is met.

* alternate base boxes that can be used:
PM-KN13-03-55-M-K46, PM-KN13-03-55-M-K46-E, PM-KN13-03-80-M-K46.

3. Removing the temporary protective cover

— once concrete has cured, remove the temporary protective cover;

— pave the top layer and cut a hole along the contour of the base box
(covering thickness 5—15 mm).

Installation of the box in a raised floor**

1. Cut-out opening
Make a rectangular cutout for the base box on the selected surface.

2. Base box installation

— use M4x4 screws (with gaskets) to install the two mounting brackets on the
base box (1);

— place the base box in the previously prepared opening and fix the
mounting brackets in the required position from the bottom of the working surface
using M4x12 Philips countersunk head self-tapping screws (not included in the
delivery set) (2);

—remove the plugs from the corresponding knockout holes for cable entry
and lead the conductors inside the base box.

M4x12 Philips countersunk
head self-tapping screw

Connecting and modules installation

1. Unscrew the support bracket on the pop-up enclosure and remove the
card frame.

2. Snap the desired modules into the card frame and connect the wiring to
the appropriate terminal at back of the modules.

3. Slide the card frame into the pop-up enclosure.

4. Secure the support bracket by tightening the screws.

5. Feed the wires through the knockout holes on the base box. Connect the
wires to the terminal block on the backside of the socket.

Terminal block

Card frame

®
Support bracket ;

** it is possible to install box on a desk with an additional box PM-KN13-03-55-P-K02
(not included in the delivery set), the installation process is similar to that specified
in paragraph 2 of these instructions.

Screws

Cover panel installation and operating instructions

1. After the wiring is completed, secured the cover panel into the base box
using two mounting screws (M4x25).

Panel surface should be level with the surface of the floor covering.

example of installation in a concrete example of installation in a raised floor
2. To open the lid, press and pull the button until lid reaches its maximum
position. Product have a lid smooth pop-up mechanism.
To close the lid, press and pull the button while simultaneously closing the lid
with your other hand.

MpousBeaeHo: YxaussH CuHo AnekTpo-TexHukan Ko., JITO
A5 6unpuHr, Cynioin Mupgactpuan 3oH, Niowwn, FO3umH,
YWkaussH, Kutan, 325604

Made by: ZHEJIANG SINO ELECTRO-TECHNICAL CO., LTD
A5 Building, Sulv Industrial Zone, Liushi, Yueqing, Zhejiang,
China, 325604

Version 1



